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SIMEX Naive
51 B2 B B2
n o.  Bias(SD) Bias(SD) Bias(SD) Bias(SD)
0.2 —0.0084(0.0520) —0.0078(0.0377) —0.0177(0.0291) 0.0146(0.0203)
50 0.4 —0.0405(0.0875) 0.0171(0.0638) —0.0764(0.0537) 0.0546(0.0388)
0.6 —0.0508(0.1253) 0.0342(0.0821) —0.1207(0.0680) 0.0700(0.0330)
0.2 —0.0083(0.0384) —0.0074(0.0321) —0.0126(0.0203) 0.0084(0.0142)
100 0.4 —0.0381(0.0581) 0.0158(0.0334) —0.0761(0.0397) 0.0434(0.0224)
0.6 0.0394(0.0719) —0.0206(0.0567) —0.1154(0.0383) 0.0632(0.0210)
0.2 —0.0059(0.0169) 0.0039(0.0118) —0.0187(0.0136) 0.0127(0.0093)
150 0.4 0.0160(0.0341) —0.0126(0.0258) —0.0497(0.0279) 0.0324(0.0177)
0.6 —0.0279(0.0599) 0.0163(0.0394) —0.1088(0.0315) 0.0563(0.0171)
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